1. Turn the table top upside down and install the wooden strips

Socket Head Cap + Gasket
Screw (M8*50mm)

2. Attach the legs to the wooden strips (cover the holes
with a hole cover)

Hole cover

Spring spacers /

Socket Head Cap + Gasket
Screw (M8*50mm)

3. Installation Completed

(d POVISON

Assembly instructions

DT8277 Installation

The number of people needed for installation: 2

Spring spacers (D Please read the manual carefully before
installing this product. And strictly
follow the installation process

(@ Please take good care of this manual
for your next installation
B Note: Before installation, screw all
the screws to 1/2 of the length of
the installation. After all screws
are half screwed in, tighten them all
together.
. On a red ribbon are furniture
Parts list : : .
installation accessories
. Quantity
Seréal Shape Name reqzi?(i:it:“or Sp‘df_c
number installation| auantity
\NW Socket Head Cap
A %\}\\ Screw (M8+60mm) 8 1
\\W\ Socket Head Cap
B %\I\\\ Screw (M8+50mm) 4 1
C Gasket 12 5
1 D 0 Spring spacers 12 5
E N Wrench 1 0
F @ Hole cover 0] 9
G

Total 1 page; page 1




	图纸和视图
	模型


